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#include<stdlib.h>

#include<stdio.h>

#include<math.h>

int main ()

{ int num[100]={0};

int x;/*x

int n;/*

int k,y;/*n+1
intij,hfz,l;

i
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int final[100]={0};

char continute;

printf("
printf("
printf("
printf("
printf("\n");
printf("

while(1)

BTG | \n®);
AR T O,
PRI x S A

FISES x fifi > AJp s gy 2200n");

IS 2 (YIND);

scanf("%c",&continute);

if(continute=="Y'||continute=="y")

{
printf("x

LR FE T TEE)

scanf("%d",&n);

k=n+1; f=n; y=n+1 ;

do{printf("
i=k-n;

f‘%ﬁ X ZIAFY%dR RN n);

scanf("%d",&numl[i]);
Jwhile(n-->0);




}

printf(" R BRI+ ) Y S X ()

printf(" ﬁ%ﬁ‘ ﬁ‘»}ZiJ/C:‘E FX-M);
scanf("%d",&x);

printf("\n");

for(h=1;h<=f;h++)/* Ypub={ ek E I
{

num[1]=num[1];

for(1=2; I<=k; [++)
{num[l]=(hum[l-1]*x)+num[l];}
final[k]= num[K];

k--; I* — gt/

}

final[1]=num[1];

printf("x 2
if(x>=0)
{ for(z=1;z<y;z++)

{printf("%d\t(x-%d)"%d+\n" final[z],x,y-z

printf("%d\n" finally]) ;
printf("\n"); }

else
{ for(z=1;z<y;z++)

{printf("%d\t(x+%d)"%d+\n" final[z],-X,y-

printf("%d\n" finalfy]) ;
printf("\n"); }

else if(continute=="N'||continute=="n"){break;}
else {printf("\n");}
printf(" FFdilhs 2 (YINY)E TR T

system("pause");

return 0;}
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